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Taking Parts
Puzzle: English partitives can take two different forms, which we will term regular partitives (Ladusaw 1982, Hoeksema 1984), created on the basis of the preposition of (1a) and proportional partitives, created on the basis of in or out of (1b). They differ in (a) what kind of DPs appear after the preposition 
(1) and (b) whether the lexical NP is projected before the preposition (2).
(1)
a.
Six of (these (seven) books/??every seven books are rotten.


b.
Six in/out of *these (seven) books/(every seven books are rotten.

(2)
a.
??
Six books of these seven are rotten.


b.
Six books in/out of every seven are rotten.

Analysis: We follow Ionin and Matushansky (2004) and Chierchia (2004) in treating simplex cardinal numerals as nominal heads with the semantic type of modifiers (((e, t(, (e, t((), as in the sample lexical entry in (3):

(3)
[[3]] = (P ( D (e, t( . (x ( De . ( S = Π (x) [ |S| = 3 ( (s ( S P(s) ], where


the partition of a plural individual Π (X) is defined as a set of (possibly plural) individuals s.t.:

+ Π(X) = X (the partition covers X, see Gillon 1984, Verkuyl and van der Does 1991, Schwarzschild 1994), and

(z, y ( Π (X)[ z=y ( ((a [a ≤ z ( a ≤ y]] (Forbidding that anything be an (improper) part of more than one element of the partition ensures that no element is counted twice.)

We trace the differences in the distribution of regular (of) and locative (in/out of) partitives to differences in the syntactic structure, as well as to effects of genericity.
Syntax: We suggest different syntax for regular and locative partitives on the basis of the behavior of the relevant prepositions outside of the partitive construction. Of-phrases are complements of relational nouns (sister of), measure nouns (liter of), event nominals (destruction of), etc., while non-predicative locative PPs are adjuncts (a room in this building, an apple out of every basket, etc.). This suggests that in locative (in/out of) partitives, the PP adjoins to the NP containing the numeral. In consequence, the lexical noun appears twice in the structure, and it is marginally possible for both NPs to be spelled out, especially if they do not share the same lexical head:

(4) 
a.
?
One person in every ten people claims to have been abducted by aliens.


b.
?
Two idiots in every twenty men will always get into a fight.

On the other hand, in regular (of) partitives, the of-phrase is a complement of the numeral, which explains the contrast between (1a) and (2a).
 An additional argument against a null noun in regular partitives comes from examples like (5), where no possible candidate for a null noun presents itself.
(5)
1208 of you pledged to support The LINGUIST List.

Semantics: We propose that of takes an individual and returns a predicate over its parts, both in count and in mass partitives (cf. a slice of cheese, a quarter of the cake). Thus, contrary to standard assumptions (introduced in the context of relational nouns), we do not treat of as semantically vacuous. Constraints on the interpretation of the second NP will be derived from the interaction between the semantics of “of” and the semantics of numerals above.

Genericity: We propose that the complementary distribution of in/out of and of is directly related to the interpretation (type vs. token) of their complement. Since of requires that its complement be divisible into parts, it is incompatible with type readings, and therefore with proportional quantification:
(6)
a.
Fifteen *of/(in twenty dentists recommend this brand of toothpaste.


b.
Six *of/(in every seven people prefer ice cream to frozen yogurt.

We will provide independent support for this view from the distribution of of with mass nouns and from the interpretation of proportional partitives.
(7)
a.
*
I need three bottles of every wine/every two wines.
( if D-linked

b. 
I need three bottles of every wine that they have at the store.

Finally, we will discuss the well-known constraint of anti-uniqueness and show how it can be derived.









�Check out for semantic agreement.


�Once again, we see that of-PPs only appear as complements when they are arguments (not adjuncts).





